36) X=9

e 2
7 real solvhons X =9 . ¥y =Ip
exactly [ real 0 =2

8

no real ¥ =~






344 )

E > Ar X
Y{Z - X 7 &
X(ﬁ-—l)?g\

A
Gy @)

%7 9*(\[75--1")3
3=

)(76-1-\




1.6: Complex Numbers

Simplify
i y  (3+3)
@ -2 )(a+r3)
4(a+7E)
Y 425 -3 =3

V-3 2aad
A+1>

pee

Co n;)oﬁa:k’/
’P[J.'\F$









Imaginary Numbers \’\I—T : )
- :L

e

A radical is fully simplified if there are ...

1) No negative radicands b\ m

2) No powers of i > 1 Y-1-13
o) V35 (V1%

-5 AT



c) 2AJ-45
AcVa s

ERSE
VS



Complex Numbers: standard form a + bj

a € R
b €K

real aginary

Every number can be written as a complex number



Identify the real and imaginary parts of a number.

Q) —<le
b) Y+ 3¢
cy 2

ceal - 7

]m%:*ab
ceal” C{-\
'lma_s o Y7
feal: S

im%ﬂ()



4) bils real + O
\MOg - RilS
ed ¢ _
37\ 3 real. -3
+in nog + L
oty 0
Sorm
> st. orn
..._3_}_-—'-. P Rh
£) 8- < ap r'e&\a\' Ek
25 '56'"@0“ i



Simplify. State the answer in standard form.

a - (5* 6i)— (6 -4%i)
__34—’—,‘8&

LY 7 (3-3%)
20 -1



C) /¢ (3 *Qé)

21— 11
%+ 1%
)44—116,



d) (2005
e ) (- 3@9

2:(/ _IUCFD
v 3(9—-?{3
-y
5u+?

S



